Mark Scheme — Wednesday 6" May
Part 1

3.145+4.1=7.245

Part 2

The digits are lined
up incorrectly.

Eva needs to line
up the decimal
point.

The correct
answer is 5544

Part 3
No exchange:
9.99 + 0.001

Exchange in the
ones column:

999 +1
999 + 0.1
9.99 + 0.01

Exchange in the
tenths column:

999 + 0.1
9.99 + 0.01

Exchange in the
hundredths
column:

999 + 0.01

Part 4 - SATs Questions
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Q1.

Q2.

196.45

Two cards ticked as shown:
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Accept alternative unambiguous indications such as
circling or a line joining the correct pair of cards.
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